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LEARNING OBJECTIVES OF CHAPTER 5:

This chapter covers the measurement and interpretation of all international transactions between one country and the rest of the world: that is, the balance of payments. The main goals of the chapter are to:

1.
Explain how the double-entry bookkeeping system of measuring balance of payments (B.O.P) works with reference to the I.M.F standard Balance of Payments.

2.
Outline the specifics of Australia’s Balance of Payments.

3.
Evaluate the significance of the Balance of Payments results by comparing the BOP figures of selected countries.

4. Establish the importance of BOP for international companies
LECTURE OUTLINE FOR CHAPTER 10

A.INTRODUCTION

1.
The balance of payments is a record of the economic transactions between residents (individuals, businesses and governments) in the reporting country, and their ‘non-resident’ counterparts in other nations 

2. However, any international contractor should understand it because its general state is an indicator of subsequent government policy changes. Another reason, which should keep an international contractor interested in national balances of payments, is its importance in determining exchange rates.

B. THE BALANCE OF PAYMENTS ACCOUNTING

1. The broad categories used for grouping international transactions are the current account, and the capital and financial account. Current account items are concerned with international transactions involving goods and/or services and current transfers (or current items as they are known). Capital and Financial account items are mainly concerned with the country’s transactions in monetary and ownership claims
2. The balance of payments accounts utilise a double-entry bookkeeping system, in which each international transaction is recorded as two offsetting entries. The entire balance of payments, by definition, must balance numerically.

3. The current account of the balance of payments includes: (a) goods trade (physical goods); (b) net services (eg. balance of payments and receipts on trade in services such as tourism and transport) ;( c) net income (eg. interest payments, royalties and profits of overseas companies); (d) current transfers (eg. pensions, other money remittances, foreign aid, etc.).

4. The balance on goods and services equals the net exports of both goods and services. It is a more meaningful definition of a trade balance.

5. The balance on goods, services, and income balance adds net income flows to the goods and services balance

6. The current account balance equals net credits, minus debits on the flows of goods, services, income, and current transfers.

7. The capital and financial account shows transactions in foreign financial assets and liabilities. It is the mirror of the current account. That is, the current account equals the capital and financial account (inclusive of net errors and omissions), the amounts for the two accounts having opposite signs.

8. The balance of payments is related to the foreign exchange market because the transactions involving trade and capital flows, which are recorded on the balance of payments, give rise to demand for and supply of currencies. For each transaction on the foreign exchange market, there is a corresponding entry on the balance of payments

9. From the Reporting Country’s point of view each exchange, each transaction, involves two opposite flows of equal value: A credit (+) is a flow for which the reporting country is paid. Exports are an example; a debit (-) is a flow for which the reporting country must pay. Imports are an example.

C. AUSTRALIA’S BALANCE OF PAYMENTS

1. The current format of Australia’s Balance of Payments, introduced by the Australian Bureau of Statistics in September 1997, is very close to the recommendations in the fifth edition (1993) of the International Monetary Fund’s Balance of Payments Manual.

 2. Since 1959–60 Australia has had only one surplus on its current account and that was in 1972– 73. A common concern has been the rise in the current account deficit from between 2 and 3 per cent of GDP in the 1960s and 1970s to between four and six per cent of GDP in the 1980s and 1990s.
D. THE BOP AND THE INTERNATIONAL CONTRACTOR

1. Managers in international companies should understand BOP accounting so that they can use BOP data in the firm’s foreign business strategy formulation. The international firm is frequently required to analyse the impact of its own operations on the balance of payments of both home and host countries.

PRACTICE ACTIVITIES

True-False Questions
	1. Australia’s overall Balance of Payments has been in recent years in deficit.
	       T / F 

	2. In the Balance of payments –IMF Standard Presentation- the ‘Direct Investment’ Item is presented under the Current Account
	       T / F

	3. Current transfers represent payments of monies which are not likely to involve any return or remittance in the future
	       T / F

	4.The Current Account balance results from the addition of all credits and debits for item 1A(Goods and Services), Item 1B(Income) and 1C(Current transfers)
	       T / F

	5.The Balance of Payments is totally unrelated to the Foreign Exchange market
	       T / F

	6. A persistent deficit on the Current Account balance will contribute to the weakening of the currency of the reporting country and may generate import protection measures by the government of the respective country.
	       T / F

	6. A transaction between a domestic shipping company and a domestic export company will not be recorded in the BOP
	       T / F

	7. The balance on current account is equal to the imbalance between a country’s level of national investment and its level of national saving 
	       T / F

	8. A chronic current account surplus is likely to cause a depreciation of a nation’s currency.
	       T / F

	9.Australian government policies that stimulate economic growth (ceteris paribus) tend to cause a depreciation of the Australian dollar
	       T / F

	10.If Australia’s interest rates are rising more rapidly than those of other nations, one can expect(ceteris paribus) an appreciation of the Australian dollar
	       T / F

	11. Exports are recorded as a debit, and related payment as a credit.
	       T / F

	12. Sales of government bonds to Australian citizens will not be recorded in the BOP, but they can indirectly influence Australia’s balance of payments. 
	T / F


Multiple Choice

1.
Which transaction will be recorded as a credit in Australia’s current account?

a.  Australia buys 6 Boeing aircraft

b. The Australian Wheat Board hires a Chinese ship for the transportation of a cargo of wheat to China 

c.  A number of Australian bonds held by Singapore investors mature.

d. Foster’s exports a big shipment of wine to the US

e. Toyota(Australia) reinvests its A$ 7.0 million in Australia

2.
 Interest payments on foreign debt

a.
add to the current account deficit

b.
reduce the net financial account

c.
add to net financial account

d.
reduce the current account deficit

3. 
Under a floating exchange rate regime, there must always be a balance of a nation's:

a.
merchandise exports and imports.

b.
total international payments.

c.
imports and exports of goods and services.


d.
income and current transfers

4.
In the services section of Australia’s current account a debit item would be

a.
interest received on Australian investment abroad

b.
expenditure by overseas tourists in Australia

c.
monies paid by Australian trading companies to overseas companies on freight services and insurance

d.
expenditure on Australian goods and services by foreign embassies

5. All other things being equal, the Australian dollar will appreciate if


a. 
The Australian economy has an unusually high current account deficit

 
b. 
Australia’s inflation rate is less than that of the rest of the world

c. Australian companies increase significantly their investment overseas

d. The ‘market sentiment’ is that the Australian dollar is overvalued

6. Given the following BOP figures, Australia’s dollar is likely to

Balance on goods

 200

Net services 


–400

Net income


–120

Net Current transfers

    20

a. 
appreciate

b. 
depreciate

c. 
stay unchanged

SOLUTIONS TO PRACTICE ACTIVITIES

True-False Questions

1.
T

7.
T

2.
F
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T
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T
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T
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Multiple Choice
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D

2.
A
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